5H 2=

WYOO BEARING

SZIENZS
RRIRHMRRY
Wheel and pin bearing series
KR
o .o AR
AR Y Linear bearing series
T 1T —>|d2|<— N g 4 S
B I ey 1
° “Mlt:-:-:}t: CEoTE S e #Itj* BE&BHBTHHRT
D1 -
— — T ’ Linear motion ball slide units series
0 — I T
4 % y N
2 g / RYIT] ==
= FrimxTrHA R 5|
Ball joint rod ends series
RIS R=~F Dimensions(mm)
Beari b N
carngs number De © D1 D1 G1 |[Bmax [B1max| B2 B3 C1 |rsmin ﬂ'L‘?&qﬁiﬁﬁ%‘:ﬁu
KR13 KRvia | 13 | 9 | 5 | Ms5x08 | 7 | 10 | 23 | 13 05 | 03 Spherical plain radial bearings series
KR16 KRV16 16 | 11| 6 | Mext 8 | 122 | 282 | 16 06 | 03
KR19 KRV19 19 | 11 8 |M8x125| 10 | 122 | 322 | 20 06 | 0.3 5
- iMELE IR R 5
KR22 KRV22 22 | 12 | 10 [M10x1.25| 12 | 132 | 362 | 23 06 | 0.3 Hydraulic cylinger.spherical series
KR28 KRV28 26 | 12 | 10 [M10x1.25| 12 | 132 | 362 | 23 06 | 03
KR30 KRV30 30 | 14 | 12 | M12x15| 13 | 152 | 402 | 25 6 06 | 06
KR32 KRV32 | 32 | 14 | 12 |M12x15| 13 | 152 | 402 | 25 6 06 | 06 BHEZESM RS
KR35 KRV35 | 35 | 18 | 16 |M16x15| 17 | 196 | 521 | 325 | 8 08 | 06 Cylinder linear rail series
KR40 KRV40 40 | 20 | 18 | M18x1.5| 19 | 216 | 582 | 365 | 8 0.8 1
KR47 KRV47 47 | 24 | 20 | M20x15| 21 | 256 | 661 | 405 | 9 0.8 1
BB RIRLIT RS
KR52 KRV52 52 | 24 | 20 | M20x15| 21 | 256 | 661 | 405 | 9 0.8 1 Ball and steel rod series
KR62 KRV62 62 | 29 | 24 |M24x15| 25 | 306 | 80.1 | 495 | 11 0.8 1
KR72 KRV72 72 | 29 | 24 |M24x15| 25 | 303 | 801 | 495 | 11 0.8 1
KR80 KRV80 80 | 35 | 30 | M30x15| 32 | 37 | 100 | 63 15 1 1 FERGKELSHZRT
KR85 KRV85 85 | 35 | 30 |M30x15| 32 | 37 | 100 | 63 15 1 1 Rectangle ball linear rail series
KR90 KRV90 9 | 35 | 30 |M30x15| 32 | 37 | 100 | 63 15 1 1
2:KR. KRV 7| & SRR £, WA 5 HKRE, KRVE, S EAZS ,
Note:when bearing of series KR, KRV with eccentric,then designation of bearing KRE,KRVE. kiéitl&%‘l‘ﬁmﬁgﬁ] . .
Wheel and pin bearing series




5 ==

EAHHRRS]
Linear bearing series
LM...UU )
B
W W
_ ‘aooooooooooa _
I )
o| oty ——"—- _‘\‘\‘_‘Ilr
UI-_- || §m --—\\-i,l
LM LM...AJE! LM...OP%!
FE
MRELS 7 z
- N X EAE  d ME D
S _ | ammEm | Lt O izt [0
£S5 BiFE BiFE R~ o
MHFES | : — e ” EARERE
gr i =) B-5 KE = ZEg
LM 3UU 4 1.4 - - 3 7 Rl (&K) [ oL o
AT MRS
LM 4UU 4 19 - - 4 0 0 8 0 L B W | DI | h | h]| 8 um c | co
-0.005 | -0.008 -0.009 s s B um
LM 5UU 4 4 LM 5UUAJ - 5 10 BFE BHE = | 5 N N
LM 6UU 4 8 | LM 6UUAJ - 6 12
LM 8SU 4 11_| LM 8SUAJ - 8 15 e L - - - - |-l -l - 4181 -2 18821108 ) LM3U
LM 8UU 4 16| LM 8UUAJ - 8 15 12 | 012 = - - | - | -]-] - 148/ -3 |82 127 |LMAWU
LM 100U 4 30 | LM 10UUAJ - @ 1| S | e 19 15 10.2 11 o6 | - | - | - | 4] 8| -3]167 | 206 | LM 50U
LM 120U 4 315 | LM 12UUAJ | LM 120UOP | 12 21 0 19 135 11 (15 1 [ - - [ 8 [12] -5 [ 206 | 265 [ LM 6UU
LM 13UU 4 43 LM 13UUAJ | LM 13UUOP 13 23 -0.013 17 115 11 14.3 1 _ _ 3 12 _5 176 205 LM 8SU
LM _16UU 4 69 | LM 16UUAJ | LM 16UUOP | 16 28 7 T ~ el T -1 - T 5 2= a5 20 | oo
LM 20UU 5 87 | LM 20UUAJ | LM 20UUOP | 20 . . 32 . 5 %1 o P T s T = T 55 25 v 5000
0 : -1 - -
LM 250U 6 220 | LM 250UAJ [ M 250U0P | 25 | S407 | D010 40 R B2 o 02 s T st s T T 5 o =T 55 sos T2l
LM 30UU 6 250 | LM 30UUAJ | LM 30UUOP | 30 45 30 : : -
LM 350U 6 390 | LM 35UUAJ | LM 35UUOP | 35 52 32 23 13 | 22 [15] 9 [80° | 8 [ 12| =7 | 510 | 775 | LM 130U
LM _40UU 6 585 | LM 40UUAJ | LM 40UUOP | 40 | So0s | So12 60 e 37 265 16 | 27 [15 [ 11 80 [ 8 [ 12| -7 | 775 [ 1180 | LM 16UU
LM _50UU 6 1580 | LM 50UUAJ | LM 50UUOP | 50 80 42 305 16 [ 305 15[ 11 [60° [ 10 | 15 | -9 | 863 | 1370 | LM 20UU
LM 60UU 6 2000 | LM 60UUAJ | LM 60UUOP | 60 0 0 90 0 5
SV B0UL . 2550 o souUA T v so0uor 80— —0.000 | —0.015 > _0.022 59 41 185 ] 38 | 2 [ 12 50o 10 | 15 | -9 | 980 [ 1570 | LM 25UU
LM 100UU| 6 | 8600 |LM 100UUAJ| LM 100UUOP | 100 | o 0 150 0 o 44.5 185 | 43 |25 ] 15 | 50" | 10 | 15 | -9 | 1570 | 2750 | LM 30UV
LM 120UU 8 15000 [LM 120UUAJ| LM 120UU0OP | 120 | -0.010 | -0.020 180 -0.025 70 . 495 2.1 49 | 25 | 17 | 50° 12 | 20 | -13 | 1670 | 3140 | LM 35UU
0 = -
LM 150UU| 8  |20250 |LM 150UUAJ| LM 1500U0P | 150 | Qois | Sops | 210 | Somg 80 | g3 [ 005 | g 21 |57 | 3 ]20]80° | 12 | 20 | -13 | 2160 | 4020 | LM 40UU
' ' ' 100 74 26 |765| 3 |25 [50° | 12 | 20 | -13 | 3820 | 7940 | LM 50UU
M| [25] [UU—{AJ] 110 55 315 | 865 | 3 | 30 [50° | 17 | 25 | —16 | 4710 [10000| LM 60UU
140 105.5 415 | 116 | 3 | 40 [50° | 17 | 25 | —16 | 7350 [16000| LM 80UU
175 1255 415 [ 145 | 3 [ 50 [50° | 20 | 30 | —20 [14100(38400|LM 100UU
Tras 200 | 9, [1585] B4 [415 | 175 | 4 |85 |80° | 20 | 30 | —25 | 16400 40000| LM 120UU
s R OP| FO® 240 | | 1706 515 | 204 | 4 |105]|80° | 25 | 40 | -30 |21100|54300 LM 150UU
LME: AR [#ER R LS A
EoMERrE | Tt
DU mEEE




5H 2=

WYOO BEARING

ks - Lol - M - B

A= EH & H&R T

Flange linear bearing series

LMH

LMF...UU
4—"»
H
h
5] o
LMF LMK LMH N [ N =
A 4 L~ ]
N
b
A 5
B =Ta—
BS gg- | HAE EAREE Rle:
X - X BRI (13 BRE [
EAZE | FokE® | HEE=R 9 (um) | B1Z5 C(N) [#75 Co(N)| dr(mm) |72 (um)
LMF 6UU | LMK 6UU | LMH sUU 4 265 -5 200 260 6
LMF 8SUU | LMK 8SuuU - 4 34 -5 170 220 8
LMF 8UU | LMK 8UU | LMH 8uUU 4 40 -5 260 400 8
LMF 10UU | LMK 10UU | LMH 10UU 4 78 -5 370 540 10 _8
LMF 120U | LMK 120U | LMH 120U | 4 78 -5 410 590 12
LMF 13UU | LMK 13UU | LMH 13UU | 4 94 -7 500 770 13
LMF 16UU | LMK 16UU | LMH 16UU | 5 134 -7 770 1170 16
LMF 20UU | LMK 20UU | LMH 20U0U | 5 180 -9 860 1370 20
LMF 250U | LMK 250U | LMH 250U | 6 340 -9 980 1560 o5 _18
LMF 30UU | LMK 30UU | LMH 30UU | 6 460 -9 1560 2740 30
LMF 350U | LMK 35UU - 6 795 13 1660 3130 35
LMF 40UU | LMK 40UU - 6 1054 | -13 2150 4010 40 _18
LMF 50UU | LMK 50UU - 6 2200 | -13 3820 7930 50
LMF 60UU | LMK 60UU - 6 2960 | -16 4700 9990 60 a
LMF 80UU | LMK 80UU N 6 5800 | -20 7350 16000 80 -15
LMF 100UU | LMK 100UU - 6 10600 | -30 14100 34800 100 _28

£:% A LMFE..LUU LMK..LUU LMH..LUU®@r¥A)

R=F (mm)

9MED KEL D1 4 leonl k L w | Al e BEAE B 5
(mm) (/ﬁf) (mm) (ﬁf) (mm) (ﬁf) (fm) drden

12 19 28 5 |20 22|18 |20| - | 12 | 34x65x33 | LMF/K/H 6UU
15 | 91 17 32 5 |24|25| - | - | = | 12 | 34x65x33 | LMFKMH 8SUU
15 24 32 5 24|25 |21 |24 ]| - 12 3.4x6.5%x3.3 LMF/K/H 8UU
19 29 o] 40 6 |20 |30 |25 29| - | 12 | 45x8x44 | LMF/K/H 10UU
21 0| 30 021 4 6 |32 |32|27 32| - | 12 | 45x8x44 | LMFKH 120U
23 | T a2 43 | 59| 6 |33|34|20|33| - | 12 | 45x8x44 | LMFKH 130U
28 37 48 6 | 38|37 |34 |31 |22 12 | 45x8x44 | LMFK/H 16UU
32 42 54 8 |43 |42 |38 |36 | 24| 15 | 55x95x5.4 | LMF/K/H 200U
40 | (2| 59 62 8 | 51|50 |46 |40 32| 15 | 55x95x5.4 | LMF/K/H 250U
45 64 74 10 | 60 | 58 | 51 | 49 | 35 | 15 | 66x11x65 | LMF/K/MH 30UU
52 70 ol 8 1067 64| -] - | -] 20 | 66x11x65 | LMFKH 350U
60 | 9] e0 031 o 137875 | - | - | - | 20 | 9x14x86 | LMFKMH 40UU
80 100 16| | 18]98|92| - | - | - | 20 | 9x14x86 | LMFKH 500U
90 | 3 110 134 | 0% 18 [112[108| - | - | - | 25 |11x17.5x108| LMFKM 60UU
120 | _ 2 | 140 ol 164 18 [142]136| - | - | = | 30 | 11x17x11.1 | LMF/K/MH 80UU
150 | o9 | 175 =390 500 02120 (175170 - | = | - | 40 | 14x20x13.1 | LMF/K/H 100UU




5 ==

H &% 25 HEBHRAT R

Linear bearing series Linear motion ball slide units series
LM'-'LUU scs---uu scs---LUU

‘ h+0.02
—

D1 D

Bpme FE R~ Dimensions ( mm ) fic & B %47k Slide bush &
. EAR AR .
- . Unit A= Balsm load rating We|ght
s — - - R (BK) | REERAFE EAAEHE Designation L L L R N Designation |aysamic| st | (kg/m)

e RERZED| 4MZD KEL B W | D1 am am C | co CN_| CoN
AHE| | Atz ATE ATE N n SCS6UU | 6 |9 [15[30 25181520 [15] 5 [Ma[34] 8| LMmeuu | 206 | 265 | 34
LM 3LUU | 4 3 |3 7 19 - . 10 > 139 | 216 SCS8UU | 6 [11 |17 |34 ]300 |22 18|24 [18] 5 [M4|34] 8] LMm8uU |274 | 392 | 52
LM 4aL0U | 2 7 | a 51 3 - . 10 3 139 | 254 SCS 10UU | 8 [13| 20 40|35 |26 |21 |28 21| 6 [M5[43]12] LM 10uU | 372 | 549 | 92
LM 5LUU | 2 s |5 0] 3013 59 50 83 1096 10 3 563 | 412 SCS 120U | 8 [ 15|21 [ 42 ] 36 | 28 | 24 [30.5] 26 [5.75] M5 [ 4.3 12] Lm 120U [ 510 | 784 | 102
T % 16 121 001335 >71 " T1lisl 15 S 304 | 529 SCS 13UU | 8 [ 15[ 22 44 [ 39 [ 30 [245[ 3326 [55[M5[43]12] tm 130U [ 510 ] 784 | 120
sl ¢ o [o] 9, fil ] 9 el [iiliasl 15 | s Taoi|ed scs ooy s T e oo Tt ssalzol s fon 7 oo o o |7 o]0
tm EEES j Zé 12 % :? jg . 12 ;i 1: :: Zzi 1;88 SCS 25UU [ 12|26 [ 38 [ 76 [ 67 [515] 42 [ 54 [50 11 [m8] 7 [18] tmasuu [ 980 [ 1570 600
< : SCS 30UU | 15[ 30|39 | 78 | 72 [59.5] 49 | 58 |58 | 10 [M8| 7 [ 18] LM 30uu | 1570|2740 | 735
LM 18LUU| 4 | 90 |13 23] 61 46| 0311322 15 ik 814 | 1570 SCS 35UU | 18 | 34 | 45 | 90 | 80 | 68 | 54 | 70 | 60 | 10 |[M8| 7 | 18| LM 35UU | 1670 3140 | 1100
LM16LUU| 5 | 145 |16 28 70 53 16|27 15 -7 1230] 2350 SCS 40UU [ 20 [ 40 [ 51 [102] 90 [ 78 [ 62 [ 80 [ 60 [ 11 [M10[8.7[25] L™m 40uU [2160] 4020 | 1590
LM 20LUU| 5 | 180 |20 o 32 o 80 61 1.6 (305 20 -9 1400 2750 SCS 50UU |25 | 52 | 61 | 122 110|102 | 80 [ 100| 80 | 11 [M10|8.7 | 25| LM 50UU |3820 | 7940 | 3340
LM 25LUU| 6 | 440 |25| o ..,l40| (o612 82 1.85| 38 20 -9 1560| 3140 SCS 60UU |30 | 58 | 66 [ 132] 122 114] 94 [ 108] 90 | 12 [M12[10.7] 25| LM 60UU [4700[10000| 4270

LM 30LUU| 6 | 580 |30 45 123 89 1.85| 43 20 -9 2490| 5490

LM 35LUU| 6 795 |35 52 135 99 21| 49 25 -13 2650| 6270 SCS 16LUU| 9 |19 | 25 | 50 | 85 [38.5|32.5| 36 |60 | 7 [M5|4.3|12| LM 16LUU | 774 | 1180 | 200
M40Luu| 6 11170 20 _8.0155_8019 154 _84 121 _8.4 21| 57 o5 _13 3430 8040 SCS 20LUU | 11|21 |27 [ 54 | 96| 41 [ 3540 |70] 7 [M6]52]12] LM 20LUU | 882 | 1370 | 255
Msouul 6 13100 150 80 190 128 5617651 25 13 6080115900 SCS 25LUU | 12 [ 26 [ 38 | 76 [130(51.5] 42 | 54 [100] 11 [M8] 7 18] Lm 25LUU [ 980 | 1570 | 600
3 § SCS 30LUU| 15[ 30 [ 39 | 78 [140[59.5] 49 | 58 [110] 10 [Mm8] 7 [18] Lm 30LuU [1570] 2740 | 735
LMEOLUU | 6 | 3500 |60 _ 150|90| _p gos5(211 170 3.15186.5| 25 -16 7650120000 SCS 35LUU | 18 [ 34 | 45 [ 90 [ 155 68 | 54 | 70 [120] 10 [mM8] 7 | 18] Lm 35LUU [1670] 3140 | 1100
SCS 40LUU | 20 [ 40 [ 51 [102]175] 78 | 62 | 80 [140] 11 [M10]8.7[25] L™ 40LUU [2160] 4020 | 1590




5 ==

HE& BB R H&BHATXERT

Linear motion ball slide units series Linear motion ball slide units series
SBR ; X SBR---UU SBRIIILUU L
_ - C+0.2
i l = [N | I
ik v i
T eaNg I
I 60° I
_C | Nesz |
-8 |
d2
di

A

RIS R R~ R~ Dimensions(mm) g2

Support Shaft ) Weight

Designation | Dimoneione E hi1B| H|T F X Y | C| ST d1xd2x 1 (kg)

SBR 16 616 20 |25(40|178| 5 |185| 8 |11.7|30| ¢55| 55x95x54 | 1.00

SBR 20 20 225 |27|45|17.7| 5| 19 | 8 | 10 |30| $55| 55%x95%x54 | 1.07

SBR 25 625 275(33|55| 21 | 6 |215| 8 | 12 |35| $6.6 | 66x11x65 | 150

SBR 30 ¢ 30 30 [37|60[228| 7 [265|103| 13 |40| $66 | 66x11x65 | 1.80

SBR 35 ¢35 325 |43|65|265| 8| 28 | 13 |155|45| 69 | 9x14x86 2.45 BRES == A plvinelon Ky} ﬁaﬁﬁjﬂmﬁsnﬁéﬁg &
SBR 40 ¢ 40 37548 |75(295| 9 | 38 |155| 17 |55| ¢9 | 9x14x86 3.25 Desé?;ﬁon h | E(WlL]F|htp 6 1 B|C|ISILIT Desi%];tion dj;;ﬁs%;::ad;%;g \(A;igl/%?)t
SBR 50 ¢ 50 475 (6295|388 11| 45 | 20 | 21 |70| ¢ 11 | 11x175x10.8| 5.26 SBR 10UU 1151 18136 13212216 lac 25120 M51 101 7 | Lmiouu—oP | 372 529 65

SBR 13UU | 17 | 20 | 40 | 39 [27.6| 85 |80° |28 [ 28 |[M5] 10 | 8 | LM13UU-OP | 510 | 784 | 100
SBR 16UU | 20 |225] 45 | 45 | 33 | 10 |80° [ 32 [ 30 |M5]| 12 | 9 | LM16UU-OP | 774 [1180| 150
S ZHE AR A E AR ~T Support Rail Stand Lengths and Dimensions SBR 20UU | 23 | 24 | 48 | 50 | 39 | 10 |60° | 35 | 35 |M6| 12 | 11 | LM20UU-OP | 882 [1370| 200
SBR 25UU | 27 | 30 | 60 | 65 | 47 |11.5]50° | 40 | 40 | M6 | 12 | 14 | LM25UU-OP | 980 [1570| 450

1| = >
e SBR 16 SBR 20 SBR 25 SBR 30 SBR 35 SBR 40 SBR 50 SBR 30UU |33 |35 |70 |70 |56 | 14 [50° |50 | 50 [ M8 18 | 15 | LM30UU-OP |1570|2740| 630
Designation SBR 35UU |37 | 40 | 80 | 80 | 63 | 16 |50° | 55 | 55 |M8| 18 | 18 | LM35UU-OP |1670|3140| 925
ez S BT ey
KA E 660 670 50 -
Standard 340 640 450 850 660 860 870
Length L 640 940 850 1250 860 1060 1070 SBR 16LUU | 20 |225| 45 | 85 | 33 | 10 | 80° | 32| 60 | M5| 12| 9 | LM16LUU-OP | 1548|2360 | 300
940 1240 1250 1450 1060 1260 1270 SBR 20LUU | 23 | 24 | 48 | 96 | 39 | 10 |60° | 35 | 70 | M6 | 12 | 11 | LM20LUU-OP | 1764 |2740| 400
SBR 25LUU | 27 | 30 | 60 | 130 | 47 [11.5|50° | 40 |[100| M6 | 12 | 14 | LM25LUU-OP | 1960|3140 900
N 20 20 25 25 30 30 35 SBR 30LUU | 33 | 35 | 70 | 140| 56 | 14 |50° | 50 [110| M8 | 18 | 15 | LM30LUU-OP |3140|5480| 1260
P 150 150 200 200 200 200 200 SBR 40LUU | 42 | 45 | 90 |175| 72 | 19 | 50° | 65 |140|M10| 20 | 20 | LM4OLUU-OP | 4320|8040 | 2660
B AKE Max.Length 6000 6000 6000 6000 6000 6000 6000




5 2=

ks - ol - Irn - B

WYOO BEARING

HEBHBATI R

Linear motion ball slide units series

BHZBHRATXERT

Linear motion ball slide units series

TBR...UU TBR...LUU

TBR E
| S1 M
—Al / K+0.2
. I : RN
S Iy
T VAR
N
C N S2
< B
> d2 <
di
L / [l L
At iEfA%
L | = — — !__| =
Ner |,
THEAES | WIERT R~F Dimensions ( mm) 58
Support Shaft .
Designation |Dimensions E h B H T F C S1 52 Weighit(kg/m)
TBR16 $ 16 25 |2214| 50 | 1496 | 6 | 1871 | 37 |455|55x9.5¢5.4 1.10
TBR20 $20 275(29.01| 55 | 1937 | 8 | 1896 | 40 |$55|55x9.5x5.4 1.80
TBR25 $25 325(3197| 65 |20.14| 10 | 20 45 | $6.6|66x11x6.5 2.05
TBR30 $30 37.5|36.52| 75 2245 | 12 | 22.96 55 | $6.6|6.6x11x6.5 2.80
RANEE + D : A .

S Eme R R~ Bt et i JR~F Dimensions ( mm) BC & B 4 3HK Slldgi?%z
= = AR A N i i i Support Shaft i # piE=s Basic load rating
S T IEMFRE K EF R T Support Rail Stand Lengths and Dimensions Designation | Dimensions | V&0 | & |[W | G| A M |81 J | KIE | h | bodoation aysaic| sie

N oN
Be TBR 16UU $ 16 392 | 490 |62 |26 | 8 [42|M5]| 50|30 |31 18 | LM16UU-OP | 392 | 490
Designation TBR 16 TBR 20 TBR 25 TBR 30 TBR 20UU 20 784 | 1176 |68 | 31| 10|51 | M6 | 54 | 37 | 34 | 21 | LM20UU—OP | 784 1176
TBR 25UU ¢ 25 1568 | 2352 |82 411265 | M8 65|50 |41 | 28 | Lmesuu-oP | 15682352
L 190 340 250 450
FEKE TBR 30UU $30 1764 | 2940 |91 | 48 |12 75 [ M8 | 75 | 60 |45.533.5] LM30UU-OP | 1764|2940
240 640 450 850
Standard 640 940 850 1250
Length L TBR 16LUU $ 16 780 | 980 |62 26| 8 | 85|M5] 506031 18 | LMi6LUU-OP | 392 | 490
940 1240 1250 1450 TBR 20LUU| ¢ 20 1568 | 2352 | 68 | 31 | 10 | 96 | M6 | 54 | 70 | 34 | 21 | LM20LUU—-OP | 784 | 1176
N 20 20 25 25 TBR 25LUU ¢ 25 3136 | 4704 | 82| 41| 12 [130| M8 | 65 [100] 41 | 28 | LM25LUU-OP | 1568 | 2352
P 150 150 200 200 TBR 30LUU $30 3528 | 5880 | 91| 48 | 12 [140| M8 | 75 |110[45.5|33.5| LM30LUU-OP | 1764 | 2940
RAKE Max.Length 6000 6000 6000 6000




5 ==

FFm 2X 3 R 2 5 F i X 3 R 2 5

Ball joint rod ends series Ball joint rod ends series
POS POSA

L2

L2

h1

f

'

|
’ |

' L1

|

'

I
E_-_-_

A y \-#
. : S :
R~F Dimensions(mm) FE 177 Loadratings - e R~ Dimensions(mm) s -
RS : A= . :
j - a° | Weight Beari b a Max stat Weight
Bearings number | 4 | g | 1| 1 | o1 |d2|  d3 hLife| @ w K earings number load capacity (ko)
Dynamic |  Static (kg) M a1 |d2|b1| b2 | L1 ] 2| L3

POS 5 5|8(03| 6 |77 |16] M5x08 |33 |20]| 41 3.3 3.9 13| 0.016 POSA 6 M6 x 1 6 |20 9 |675| 36 | 22 | 46 | 13 4.40 0.021
POS 6 6]191]03|6.75| 9 |18 M6 x 1 36 |22 | 45 4.3 5.3 13 | 0.026 POSA 8 M8 x 1.25 8 o4 | 12 8 42 25 54 13 8.00 0.034
POS 8 Glle ] e ez ] Wenlzy | Az 2] B 6.9 85 %] oes POSA 10 Mi0x15| 10 |28 | 14 | 105| 48 | 20 | 62 | 13 12.90 0.058

POS 10 10[14]0.6|10.5|12.9 26| M10x1.5 | 48 |29| 61 10 11 14 | 0.072
POSA 12 Mi2x1.75| 12 [ 32| 16| 12 | 54 | 33 | 70 | 13 17.00 0.092

POS 12 12116]0.6| 12 |15.4 30| M12x1.75 | 54 |33| 69 13 14 13| 0.108
POSA 14 Mi4x2 | 14 | 36|19 |135| 60 | 36 | 77 | 13 24.00 0.153

POS 14 14]19]0.6|13.5|16.9 (34| M14x2 |60 |36| 77 17 20 16 | 0.161
POSA 16 Mi6x2 | 16 |40 |21 | 15 | 68 | 40 | 86 | 13 28.50 0.205

POS 16 16]21]0.6| 15 |19.4|38| Miex2 |66 |40| 85 21 o5 15 | 0.225
v 181231061165 219 142] M18x1s |72 laa| o - - 12 | o005 POSA 18 Mi18x15| 18 |46 | 23 | 165 | 72 | 44 | 95 | 13 25.00 0.260
POS 20 20(25|0.6| 18 |24.4|46| M20x1.5 | 78 |47 101 31 35 15 | 0.382 POSA 20 M20x1.5 1 20 | 50 | 25| 18 | 78 | 47 | 103 | 13 40.00 0.370
POS 22 22|28(06| 20 |25.8|50| M22x 15 | 84 |51]109 38 43 15 | 0.488 POSA 22 M22x15| 22 | 54 |28 | 20 | 84 | 51 | 111 | 13 52.00 0.475
POS 25 25(31(06| 22 |296(|60| M24ax2 | 94 |57|124 47 65 15 | 0.749 POSA 25 M24x2 | 25 |60 | 31| 22 | 94 | 57 | 124 | 13 60.00 0.650
POS 28 28|35|0.6| 25 |32.3 |66 M27 x 2 103 |62 | 136 59 77 15 | 0.949 POSA 28 M27 x 2 28 | 66 | 35 26 103 62 136 13 71.00 0.88
POS 30 30|37(06| 25 |34.8|70| M30x2 |110|66]145 63 96 17| 1.13 — RSN [Py e [ N R [ Uy g p—




5 ==

Al 2 - Sl 2
FrimxTr A R 5 FrimxTr A R 5|
Ball joint rod ends series Ball joint rod ends series
PHS PHSA
B
—
C1
B (—>
—>
o » (
—
{ : |
,1 F==nE
Hd-| Q) N
| /a
j S—— i
| h2 L4 ! —3 - 1
| | | L2
| [Nt | La} | j
| KIS ol
d3 di <L>
— —
S d2
Jo R=F Dimensions(mm) R 8
. . e _ MRS . ;
R~F Dimensions(mm) Hi5E 7 Loadratings _ Bearings number a Max stat Weight
RS = load capacity (kg)
. - a° |Weight di M d2|d3| S [b1]| b2 [L3| 11 |12] d4 | L4
Bearings number | o4 | 4] g | 92 43 ga | e |8 L4 | L5 | ds g ) B ¥
max min | max | max [ max Dynamic Static (kg)
PHSA 6 6| M6x1 |[20|13]|11|9 [6.75|5| 30 [14| 10 | 40 |13 7.20 0.027
PHS 5 6 |5[8]|16| M5x08 | 9 |27[14|35| 4 |11 |9| 33 4.1 13| 0.016
PHSA 8 8| M8x125 |24|16|14|12| 9 |5 36 [17|125]| 48 |13 11.60 0.046
PHS 6 6.75/6|9] 18| M6x1 |10 |30|14|38| 5 | 13 [11] 43 5.3 13| 0.026
PHSA 10 10| M10x15 |28[19|17[14|105|6 | 43 |21]| 15 | 57 |13 14.50 0.078
PHS 8 9 |8[12| 22 | M8x1.25 [125|36 |17 |47 | 5 | 16 [14]| 6.8 8.5 14 | 0.044
PHSA 12 12| M12x1.75 |32|22|19|16| 12 |6 | 50 |24|175| 66 | 13 17.00 0.115
PHS 10 10.5|10[{14| 26 | M10x15 | 15 |43 |21 |56 | 65| 19 [17| 10 11 14| 0.072 S x
PHS 12 12 |12[16] 30 |M12x1.75[17.5| 50 | 24 | 65 | 6.5 | 22 [18] 13 14 |13 0.108 PHSA 14 14) Mi4x2 136125/22119]113.5|8 | 57 |27| 20 | 74.25| 13 24.00 0.170
PHS 14 13.5(14[19| 34 | M14x2 |20 |57 |27 | 74| 8 | 25 [22| 17 20 16 | 0.161 PHSA 16 16| M16x2 |40|27|22|21| 15 |8 |64 (33| 21 | 84 |13 28.50 0.220
PHS 16 15 (16|21 38 | M16x2 | 21 |64|33|83 | 8 | 27 (22| 21 25 151 0.225 PHSA 18 18| M18x15 |46|31|27|23|16.5(10| 71 |36] 25 | 94 |13 35000 0.320
Pl 1 legiezgl] a2 || Whiseellas || &9 || 01 || €| &2 || 10 [ &0l 2] =9 30 1510295 PHSA 20 20| M20x1.5 |50|34|30|25| 18 |10| 77 |40|27.5| 102 | 13 40.00 0.42
PHS 20 18 [20|25| 46 | M20x 1.5 |27.5| 77 | 40 |100| 10 | 34 |30| 31 35 15| 0.382
PHSA 22 22| M22x15 |64|37(32|28| 20 |12| 84 [43] 30 | 111 |13 52.00 0.54
PHS 22 20 |22]28| 50 | M22x 1.5 | 30 | 84 | 43 [109| 12 | 37 [32| 36 43 15| 0.488
PHSA 25 25| M24x2 |60[42(36|31| 22 |12]| 94 [48[33.5| 124 | 13 60.00 0.75
PHS 25 22 |25]21| 60 | M24x2 [335|94 |48 |124| 12 | 42 |36 47 65 15| 0.749
PHS 28 o= laleal aa | ez | a7 el e sl az e ol = - = e PHSA 28 28| M27x2 |66|46|41|35| 26 |14|103|53| 37 | 136 | 13 71.00 0.96
PHS 30 25 |30(37| 70 | M30x2 | 40 [110|56 |145| 15 | 50 |41| 63 86 171 1.13 PHSA 30 30| M30x2 |70[50|41|37| 25 |15|110|56| 40 | 145 | 13 81.00 1.30




5 ==

Ll -+ KWiT] =
FF i K T 5 & R 5 FF i X Ty 5 A 2R 5
Ball joint rod ends series Ball joint rod ends series
sSQ sSQz
d
d2 S2 -
di S d2 d1I _I..____
: ! L1
i | —
. L3 d 12 !
2 a;
_.._r_ | |
\ 13 .
p2|pifa1| H-—-—- - @_ s1 —|-_____
L1 —
L D2
d2
2 R~ mm s E 2R ks =
kN = x R=F mm MEKN| 28
= Static = Static
BS d2 a3 1 |1 13 L 12 | L3|D1|D2|D3 L i S d2 | d3 | 1 L L2 [ L3 (D1 | D2 | D3 Land |Weight
Boaring | d | df . e St L1 g |ge | Land |Weight Boaring | d d1 : |12 st L1 s2la | 9
min |max|max|min max max max | max | max | max [ max ratings | -kg min fmaxj|min max max|max|maxmax|max ratings | kg
number KN number KN
SQ5-RS | 5 M5 9 |19|29|8|10|21|7|35|27| 4 | 14| 9 [ 11|16]|9]|25]| 22 |0025 SQZ5-RS | 5 M5 9 198|117 46 |24 4 |12 9 |11 ]17|9]15] 28 |0.025
SQ6-RS | 6 M6 10|20 (355 11| 11|26 |8 |40|30| 5 | 14| 10| 13|19 |11|25| 35 |0.030 SQZ6-RS | 6 Mé 10120 |11 |122) 8 |55.2|28| 5 | 15|10 | 13| 20 [11]15] 3.7 | 0.041
SQ8-RS | 8 M8 12 | 24 |425| 12| 14| 31 (10|48 [35| 5 | 17 [125| 15 | 23 |14 | 25| 55 | 0.050 SQZ8-RS | 8 M8 12|24 12| 16 10| 65 |32| 5 | 16 |125] 16 | 24 |14]15| 58 | 0.075
SQ10-RS |10 |M10x1.25| 14 | 30 [50.5| 15| 17 | 37 11|57 |43 |55 |21 | 15|19 |27 [17|25| 10 |o0.112 SQZ10-RS | 10| M10x1.25 | 14 | 30 | 15 |19.5|11|74.5|35|65| 18 | 16 | 19 | 28 |17|15] 84 | 0.12
SQ10-RS-1|10| M10x 1.5 | 14 [ 30 [56.5 21 | 17 | 43 |11| 57 |43 |55 | 21 | 156 | 19 [ 27 |[17|25| 10 |0.112 SQZ10-RS-1] 10| M10x1.5 | 14 | 30 | 21 ]19.5|/11|80.5|35|6.5| 18 | 16| 19 | 28 |17|15] 84 | 0.12
SQ12-RS |12 |M12x1.25| 17 | 32 |575/ 19 | 19 | 42 [15|66 |50 | 55 | 25 |175| 22 | 31 [19| 25| 16 |0.164 SQZ12-RS |12 | M12x1.25 | 17 |32 | 17| 21 |15] 84 |40|6.5| 20 |17.5| 22| 32 |19|15| 11 0.18
SQ12-RS-1| 12 [M12x1.75| 17 | 32 |64.5| 24 | 19 | 49 |15| 68 |50 [ 55 | 25 [17.5( 22 [ 31 [19| 25| 16 |0.164 SQZ12-RS-1] 12 | M12x1.756 | 17|32 |24 | 21 |15] 91 |40|65]| 20 [17.5]{ 22| 32 |19/15| 11 0.18
SQ14-RS | 14| M14x15 | 19 | 38 |725| 22 [215| 56 17|75 |57 | 8 | 25 [17.5| 25 | 35 |22| 25| 19 | 0.254 SQZ14-RS | 14| M14x1.5 | 19|38 |22 |23.5|17| 103 |45| 8 | 26|20 | 25| 36 |22|11| 15 | 0.27
SQ14-RS-1[ 14| M14x2 |19 |38 |795|28 215 62 |17 75|57 | 8 | 28 | 20 | 25 [ 35 |22| 25| 19 |0.254 SQZ14-RS-1| 14| M14x2 |19 |38 |28|235|17| 109 |45| 8 | 26|20 | 25|38 |22|11] 15 | 027
SQ16-RS | 16| M16x1.5 | 22 | 44 |79.5| 23 [235| 60 18|84 |64 | 8 |32 |20 | 27 | 38 [22| 20| 25 |0.336 SQZ16-RS | 16| M16x1.5 | 22 | 44 |23 |26.,5|19| 112 |50 8 |27 |22 | 27 | 40 |25|11] 15 | 036
SQ16-RS-1|16| M16x2 |22 |44 85529 |236| 66 |19| 84 |64 | 8 |32 | 22 | 27 [ 38 |22|20| 25 |0.336 SQZ16-RS-1| 16| M16x2 |22 |44 |29|255|19| 118 |50 8 |27 | 22|27 | 40 |25|11] 15 | 036
SQ18-RS |18 | M18x 1.5 [ 23 | 45|90 |25 [265| 68 [20| 93 | 71| 10 | 34 | 25 | 31 | 44 |27 |20 | 33 | 0.464 SQZ18-RS | 18| M18x1.5 | 23 |45 |25| 31 |20]190.5/58| 10 | 32| 25 | 31 | 45 |27 |11] 19 | 054
SQ20-RS |20 | M20x 1.5 [ 27 |50 | 90 |25 | 27 | 68 24|99 | 77| 10 | 35 |275| 34 | 44 |30 |20 | 45 |0.538 SQZ20-RS | 20| M20x1.5 | 27 |50 | 25| 29 |24] 133 | 63| 10 | 38 |27.5| 34 | 45 |30|75| 19 | 057
SQ22-RS |22| M22x 15 [ 27 |52 |95 |28 |28 | 70 [24|109|84 | 12 | 41 | 30 | 37 | 50 |32 |18 | 48 |0.713 SQZ22-RS | 22| M22x1.5 |27 |52 | 26| 33 |24| 145 | 70| 12| 43 | 30 | 37 | 50 |32|7.5| 23 | 0.76




5 ==

.
i o< T3 Sl R 2R 51 MO KTTHARS] _
2 FRI Spherical plain radial bearings series
Ball joint rod ends series
GEG...ES 8 B
sSQb — :
L -

| 7 | |
! c@ D| d1] d — " ‘!<< - a D| di] d T '!<< -

d2|di| - —-—- — 11X N —- D \ | |

L1 L2 “ o ! !

L3 | C Ain S1 B B
D i i EfE i =
— JR=F Dimensions(mm) ﬁ_mﬁﬁﬁLoadratlngs i =
Bearings number d D B @ d1 3 i a LT
min Dynamic Static (kg)
GEG4E 4 14 7 4 7 3.4 17 20 | 0.0045
GEGS5E 5 14 9 5 9 5.5 27 21 | 0.0066
GEG6E 6 18 9 5 9 55 27 21 | 0.0081
GEGOE 8 19 | 11 6 11 9.1 40 21 | 0.0014
. : o - GEG10ES 10 | 22 | 12 7 13 10 54 18 0.021
ik [ IDmEITEenS i At = GEG12ES 12 | 26 | 15 9 16 17 85 18 0.033
B . Static _ GEG15ES | GEG15ES-2RS | 15 | 30 | 16 | 10 | 19 21 106 16 0.104
Boaring | d d1 2 L, B Ldg | c|p |fn]g ~Ee) | R GEG17ES | GEG17ES—2RS | 17 | 35 | 20 | 12 | 21 30 146 19 | 0083
min | max max | max min ratings -kg

number . GEG20ES | GEG20ES-2RS | 20 | 42 | 25 | 16 | 24 48 240 17 0.153
GEG25ES | GEG25ES-2RS | 25 | 47 | 28 | 18 | 29 62 310 17 0.203
SQD5 = M5 9| 8|8 | 19|75 7 |6 | 16032 2 0.014 GEG30ES | GEG30ES-2RS | 30 | 55 | 32 | 20 | 34 80 400 17 | 0304
SQD6 6 M6 10 | 11 | 85 235|335 8 (675 18 [ 0.3 | 25 3.2 0.021 GEG35ES | GEG35ES-2RS | 35 62 35 22 39 100 500 16 0.408
SQD8 8 M8 12 12 | 115 | 255 | 41 10 9 22 | 03 25 57 0.042 GEG40ES | GEG40ES-2RS 40 68 40 25 44 127 640 17 0.542
sQD10 | 10 [ Miox1.25 | 14 | 15 [142|342] 40 | 11 [105] 26 | 03 | 25 9.2 0.067 2522252 252;‘252‘522 ;‘g gg gg 22 2‘; ;i: 1728200 15; 01-7;43
sSQD10-1 | 10 | Mi0x15 | 14 | 21 |142|402| 55 | 11 |105| 26 | 03 | 25 9.2 0.067 e e T T T T e 1560 7 T80
SQD12 12 | M12x1.25 | 17 17 [ 151 38.1| 551 | 15 12 30 0.5 25 14 0.108 GEG70ES GEG70ES—_2RS 70 120 70 45 77 400 2000 16 301
sQD12-1 | 12 | Mi2x175 | 17 | 24 | 151|451 621 | 15 | 12 | 30 | 05 | 25 14 0.108 GEG80OES | GEGBOES-2RS | 80 | 130 | 75 | 50 | 87 490 2450 14 6.05
SQD14 14 | M14x15 | 19 | 22 | 168|513 |707| 17 |135| 34 | 05 | 20 19 0.167 GEGO0ES | GEGOOES-2RS | 90 | 150 | 85 | 55 | 98 610 3050 15 5.22
sSQD14-1 | 14 | M14x2 | 19 | 28 | 168|573 | 767 | 17 | 135]| 34 | 05 | 20 19 0.167 CHEEYES |@2enblss AR 100 || We0 || &9 || @9 || 10 655 8250 14 6.05
GEG110ES |GEG110ES—2RS| 110 | 180 | 100 | 70 | 120 850 4750 12 9.68
SQb16 16 | M16x1.5 | 22 | 23 | 18 | 545763 | 19 | 15 | 38 | 05 | 20 26 0.238 GEG120ES |GEG120ES—2RS| 120 | 210 | 115 | 70 | 132 1080 5400 16 | 1472
saD16-1 | 16 | M16x2 | 22 | 29 | 18 | 605|823 | 19 | 15 | 38 | 05 | 20 26 0.238 GEG140ES |GEG140ES—2RS| 140 | 230 | 130 | 80 [ 151 1370 6800 16 19.01
GEG160ES |GEG160ES-2RS| 160 | 260 | 135 | 80 | 176 1530 7650 16 20.02
GEG180ES |GEG180ES—2RS| 180 | 290 | 155 | 100 | 196 2120 10600 14 32.21
GEG200ES | GEG200ES-2RS| 200 | 320 | 165 | 100 | 220 2320 11800 15 45.28
GEG220ES | GEG220ES-2RS| 220 | 340 | 175 | 100 | 243 2550 12700 16 51.12
GEG240ES | GEG240ES—-2RS| 240 | 370 | 190 | 100 | 263 3050 15300 15 65.12
GEG260ES | GEG260ES-2RS| 260 | 400 | 205 | 120 | 285 3550 18000 15 82.44




5 ==

EOESmARY
[ ,[:\;éﬂﬁ-gmgg Z75 Spherical plain radial bearings series
Spherical plain radial bearings series GEBK...S GECK...S
B B
GE...ES c c
I D
13T 13T
| |
D| di| d -—-—-|-<—-: Dfdt| df T- Ii—-:
| |
T PoRT T OPoET
1 T
Dimensions(mm) HE T =
R ES — . =
Bearings number d D B © d1. 3 : ﬁ. a Weight
min Dynamic Static (kg)
GE4E 4 12 5 3 6 2 10 16 | 0.0032 B R
GESE 5 14 6 4 7 3.4 17 13 | 0.0038 c T
GE6E 6 14 6 4 8 3.4 17 13 | 0.0042 S —
GE9E 8 18 9 5 10 55 27 15 | 0.0075 | |
GE10ES 10 | 19 9 6 13 6.1 40 12 0.011 T N 1
GE12ES 12 | 22 | 10 7 15 10 54 10 0.015 ! |
GE15ES GE15ES-2RS | 15 26 12 9 18 17 85 8 0.027 o aif of -—-f==1—-1 Dfdi d -—-—-!< =
GE17ES GE17ES-2RS | 17 | 30 | 14 | 10 | 20 21 106 10 0.041 | |
GE20ES GE20ES-2RS | 20 | 35 | 16 | 12 | 24 30 148 9 0.066 SAR— | Ml
GE25ES GE25ES-2RS | 25 | 42 | 20 | 16 | 29 48 240 7 0.119 &% w
GE30ES GE30ES-2RS | 30 | 47 | 22 | 18 | 34 62 310 6 0.153 . —D-
GE35ES GE35ES-2RS | 35 | 55 | 25 | 20 | 39 80 400 6 0.233
GE40ES GE40ES-2RS | 40 | 62 | 26 | 22 | 45 100 500 7 0.306 R Dimensions(mm) Wi 5125 Loadratings =
GE45ES GE45ES-2RS | 45 | 68 | 32 | 25 | 50 127 640 7 0.427 HHRED ) =
GES0ES | GES0ES-2RS | 50 | 75 [ 35 | 28 | &5 156 780 6 | 0546 Bearings number dal ol sl c |datmn o G a Wi'ght
GEBOES | GEGOES-2RS | 60 | 90 | 44 | 36 | 66 245 1220 6 1.04 Din=mic Static (ko)
GE70ES GE70ES-2RS | 70 | 105 | 49 | 40 | 77 315 1580 6 1.55 GECK5S GEBK5S 5 16 8 6 7.7 25 7.8 13 | 0.0085
GE8OES GEBOES-2RS | 80 | 120 | 55 | 45 | 88 400 2000 6 2.31 GECK6S GEBK6S 6 18 9 | 675 9 3.1 9.8 13 0.013
GE90ES GE9OES-2RS | 90 | 130 | 60 | 50 | 98 480 2450 5 2.75 GECKS8S GEBKS8S 8 22 | 12 9 10.4 5.7 16 14 0.024
GE100ES | GE100ES-2RS | 100 | 150 | 70 | 55 | 109 610 3050 7 4.45 GECK10S GEBK10S 10 | 26 | 14 | 105 | 129 7.9 23 14 0.039
GE110ES GE110ES-2RS | 110 | 160 70 58] 120 65.5 3250 6 4.92 GECK12S GEBK12S 12 30 16 12 15.4 10.2 31 13 0.058
GE120ES | GE120ES-2RS | 120 | 180 85 70 130 950 4750 6 8.05 GECK14S GEBK14S 14 34 19 | 135 16.9 13.4 40 16 0.084
GE140ES GE140ES-2RS 140 210 90 70 150 1080 5400 7 11.02 GECK16S GEBK16S 16 38 21 15 19.4 16.4 50 15 0.111
GE160ES | GE160ES-2RS | 160 | 230 | 105 | 80 | 170 1370 6800 8 14.01 GECKA8S GEBK18S s | 22 | 23 165 | 219 503 1 15 0,160
GE180ES | GE180ES-2RS | 180 | 260 | 105 | 80 | 192 1530 7650 6 18.65 GECK20S GEBK20S 20 | 26 | 25 | 18 | 2402 57 - 15 051
GE200ES | GE200ES-2RS | 200 | 290 | 130 | 100 | 212 2120 10800 7 28.00 GECK225 GEBK22S > = = & e = = = B
GE220ES | GE220ES-2RS | 220 | 320 | 135 | 100 | 238 2320 11600 8 35.51 T = = = | & % o o T = o
GE240ES | GE240ES-2RS | 240 | 340 | 140 | 100 | 296 2550 12700 9 39.91 GECK30S GEBK30S %o Tes T3 | 2 2 5 18 = 061
GE260ES | GE260ES-2RS | 260 | 370 | 150 | 100 | 285 3050 15300 7 51.54




5 ==

A
[0 K T 5l & R 5
Spherical plain radial bearings series s
WA ERRS
GE...C GEG...C Hydraulic cylinger.spherical series
B
e — GIHO-K
I —>
S | |
! |
D| di d'_'_"!<_'a_ D|d1| d _'_|< Z'
| i d1 B,
: <1,
—_ o
YNt 7\ :
N \ .
| B i _-‘IVCH
R~ Dimensions(mm) | Z7E A 157 Loadratings =8 L2 L Rin : -
HKES - . ;
. . = =3 a Weight .
Bearings number d D B © di min g ht
Dynamic Static (k) .
N AR
—1® —|-—@ -- L1 C1I ,‘ 7
- - R . . . . . . ] (A7 ]
T % 3 B4 [0 & Spherical plain radial bearing with two seals and two—piece. i " //////,////"
d1 ‘a1
GE4C 4 12 5 3 6 2.1 5.4 16 | 0.0033
GE5C 5 14 6 4 7 3.6 8.1 13 | 0.0036
GE6C 6 14 8 4 9 3.6 9.1 13 | 0.0042
GESC 8 16 8 5 10 5.8 14 15 | 0.0075
GE10C 10 19 8 6 13 8.6 21 12 | 0011
GE12C 12 22 10 7 15 11 28 10 | 0015
GE15C 5 | 26 | 12 9 18 18 45 8 | 0027 R Dimensiens(im) BTN 52
=
GE17C 17 30 14 10 20 22 58 10 | 0.041 HRES . a° |Weight
Bearings number| o pm |g| g1 [C11921 G g |L8) L4 ooy lgs 17| B | B K
GE20C 20 35 16 12 24 31 78 8 0.066 maxlmax|  sh minl max Dynamic|Static (k)
GE25C 25 42 20 16 29 51 127 7 0.119
GE300 o = > o v = o 5 N GIHO-K12 DO*| 12 —0.006 [10| 15 | 8 | 35 [M10x1.25/42 |15|59.5 (13|17 [40| 16| 10.8 | 17 [11] 0.12
N . _ _ _ o GIHO-K16 DO | 16 -0.008 |14 20.7 | 11 | 45 [M12x1.25 48 | 17 | 70.5 [13| 21 | 45| 20| 21.1 |285|10| 0.22
fEE L @) (Ml A Spherical plain radial bearing in laid line
GEGAC . " . . . a6 o 20 | 00045 GIHO-K20 DO | 20 -0.01 |16(24.2| 13| 55 |M14x 1.5 |58 |19 |85.5(17|25|55|25| 30 |425|9 | 0.43
GEG5C 5 16 9 = 5.8 14 21 | 0.0068 GIHO-K25 DO | 25 -0.01 |20{29.3 | 17 | 65 | M16x 1.5 | 68 | 23 |100.5{17| 30| 62| 30| 48.0 | 67 | 7 | 0.67
GEG6C 6 16 9 5 9 5.8 14 21 | 0.008f GIHO-K30 DO | 30 -0.01 |22{34.2| 19| 80 |M20x 1.5 85|29 | 125 |19| 36|77 |35| 620 |108|6 | 1.25
GEGSC 8 19 11 6 11 8.8 21 21 0.014
SEG10C " > > . - I - 5 T o.021 GIHO-K40 DO | 40 -0012 |28| 45.0 | 23 |100| M27 x 2.0 |105|37 | 155 |23| 45| 90| 45| 100 |156| 7 | 2.16
GEG12C 12 26 15 9 16 18 45 18 | 0033 GIHO-K50 DO | 50 -0.012 |35|55.9 | 30 |120| M33x 2.0 |130| 46 | 190 |30| 55 |105| 58| 156 | 245 | 6 | 3.90
GEG15C 15 30 16 10 19 22 56 16 | 0049 GIHO-K60 DO | 60 -0.015 |44 66.8 | 38 [160| M42x 2.0 |150| 57 | 230 38|68 |134/ 68| 245 |380| 6 | 7.15
GEG17C 17 35 20 12 21 31 78 19 | 0083
ST " e e 5 4 o o7 =T o153 GIHO-K80 DO | 80 -0015 |55| 89.4 | 47 |205| M48x 2.0 |185| 64 |287.5{47| 90 |156/ 82| 400 |585 | 6 | 15.0
GEG25C 25 47 28 18 29 65 106 17 | 0.203 GIHO-K100 DO|100 —0.015|70|109.5| 55 |240| M64 x 3.0 |240| 86 | 360 |55/110/190|116| 610 | 865 |7 | 27.3
GEG30C 30 55 32 20 31 83 22 17 | 0.304




5 ==

gm0t
e g Ko R IR AT )
*EE@?.—:—@].% 5 J Ball and steel rod series
Cylinder linear rail series
DFU
WC WCS WCSA
WCHFE#E WCSHIEE WCSARIRNGH

EERiR:

B BRI EERE FE 2 H, B T UHEEA

BICFALGTEN BT R SESE . Bs1E A

HE TV ERE. BRATENRE, RO EKEE
HERIRERERES.

kL. GCr15 SUS440C

B .HRC62 + 2(SUS440C ; HRC58)

F/E:96 h6

EHEE : AT 0.8mm(Rmax)

i .0.8~3mm 155,82 D5} D5}

MZ:3~120(GCr15)  3~40(SUS440C) = T =

284 & : 100mm~3010mm (6000min is avaitable) Ja N o ) ' )

5 & . 100mm A #81F 5mm

\ o L L s

L

) Be B (un) PR (mm) N ] k- l

Eé WC 100{120(150] 180 250300350 400500 [600 ﬁﬁ&%ﬁ: B8 — —

(mm) (WCAS) WCS g6 [100{200|300 400 (500|600 | 700800800 | TN H FH200) AT TR T R T (kgf/m) B, Lo B, | "

3 WC3 WCS3 | -2~-8 0.06

4 | WC4 | wCs4 REF 0.10

5 WC5 WCS5 | -4~-12 1.0 0.15

6 | wWCe | WCSe 0.23 Ph: 572 Dw:Ekf2 n{BIREE  Ca:zh#Efifafa(kg) Coa:F#E fa1a7 (kgf)

8 WC8 WCS8 5._14 0.40 .“fofl
10 | WCio |wcsio *F | 062 S
12 | wei12 |wes12 1.0 0.89 o N . o it i
=TT o5 —see o4 RIRUATRST | $WER % RNIBSURIRIE R 3 R~ BUER T
16 | WC18 | WCS18 N 1.58 = e _ . L ’
20 | WC20 | WCS20 AN YT AWER | SE ) RE |5l p3|palH|B ig R 1pm|Ds Kgﬁ ﬁé’ﬁ
25 | WC25 | WCS25 | ~7~-20 ' 3.85 D1 ph | DW L(s) | (B) a oa
30 | WC30 | WCS30 FHF20| 555 SFU1605-3 16 5 | 3175 3 28| 48 | 38| 40| 10| 44 83 M6 | 55| 780 | 1790
551 PG5 WESS5 188 SFU2005-3 20 5 |3175| 3 |36]| 58 |47 |44]10] 44 83 | M6 |66 1130 | 2380
40 | WC40 | WCS40 | -9~-25 <ol 9.87

KT SFU2505-3 25 5 |3.175 3 |40| 62 |51 |48|10| 44 86 M6 | 6.6 | 1280 | 3110

50 [ WC50 | WCS50 2.5 15.4

= e oo 520 SFU3205-4 32 5 |3.175 4 |50| 80 |65|62|12| 52 97 M6 | 9 | 1450 | 4150
50 | woeo |wosso |~ 10-~2° 295 SFU4005-4 40 5 |3.175 4 |63| 93 |78|70|14| 55 101 M6 | 9 | 1610 | 5330
100 | Wotoo [westoo] *?:/'f 61.7 SFU5005-4 50 5 |3.175 4 |72|110|90 |85|14| 55 102 | M6 | 9 | 2225 | 6150
120 | WC120 |WCS120 88.8 SFU2010-3 20 10 | 3.969 3 36| 58 | 47 |44 | 12| 61 118 M6 | 6.6 | 1950 | 4240
150 | G IS0 HCEst] v L SFU2510—-4 o5 10 | 35 | 2x2 [40] 62 [ 51|48 10| 54 [71]108| M6 |6.6] 2440 | 4700
VEL G, W) T AR R ARG K 2. F IR 45° B4R 200CrMo . 40CrMo S #1469 = & SFU3210-4 32 10 | 3.175 4 |50| 80 |65]|62]|12] 90 175 | M6 | 9 | 3390 | 7170




5 ==

BB RIRLH R

Ball and steel rod series
SFU DFU

T Wﬂ

DFUZ3I
L

5% DaXfd nZRBE#H K FlE(kg/um) Ca:shEuzE fafar (kg) Coa: #8501 7E fa a7 (kgf)

A% i mm

#4%:mm RIHREAT BIE AR
RTRISAT BB > B AR =5 d [ Da D A B|L| W X G H|] Q |n| Ca Coa K
RS sl L oa lol alalilwlx!a lalalal ca | coa |k DFU1605-4 |16 | 5 | 3175 |28 | 48 |10 |95 | 38 | 55| 44 |40| M6 |4| 780 | 1790 | 38
SFU1605-4 | 16| 5 | 3175 [ 28| 48 10|50 | 38 | 55| 44 |40| M6 |4| 780 | 1790 |20 DFU2005-4 |20 | 5 | 3175 | 36| 58 |10 |95 | 47 | 66| 51 |44 | M6 |4| 1130 | 2380 |52
SRS dp) B | G5 |88 ) B8 |10 B0 47 BB B 44 Ws | 4) ED | 2 |2 DFU2505-4 |25 | 5 | 3175 |40 | 62 |10 |98 | 51 |66 | 55 |48 | M6 |4 | 1280 | 3110 |84

SFU2505-4 | 2515 | 3175 | 40 62 10150 | 51 | 66| 55 |48 Mo |4 1280 3110 ) 35 DFU4010-4 | 40| 10 | 6.350 | 63 | 93 | 14 |180| 78 9 | 815 |70 | M8 | 4| 3910 9520 | 99

SFU4010-4 40 [ 10| 6350 [ 63| 93 | 14 [ 93| 78 9 | 815 |70 | M8 | 4| 3910 9520 | 50
DFU5010-4 [ 50 | 10 | 6.350 | 75 | 110 [ 16 |182| 93 | 11 | 97.5 | 85 | M8 | 4 | 4450 | 12500 |122

SFU5010-4 50 | 10 | 6.350 [ 75| 110 [ 16 | 95| 93 | 11 | 975 | 85 | M8 | 4 | 4450 | 12500 | 65
DFUG310-4 |63 | 10 | 6.350 | 90 | 125 | 18 |184| 108 | 11 110 [ 95 | M8 | 4 | 5070 | 16600 |154

SFU6310-4 63| 10 | 6.350 [ 90 | 125 | 18 | 97 | 108 | 11 110 | 95| M8 | 4| 5070 | 16600 | 80




5 ==

TR E S SRS

Rectangle ball linear rail series
L Ll
HSR...CA HSR...CB A \ H";
:‘ ll I;
Mc
/—\
(o)
Nes Rl
me LM 7BE (mm) LM 3BERRF (mm) HA N RUBNE T2 R
"W | B | Bl [KEL| C |SEM| Sx. T|T1| K | L1 | N|E| @8hEe IMEE | LM S8,
HSR 15CA | 47 | 38 | 45 | 585 | 30 | 24 | M5x11 | 7 | 11| 19.4 | 382 |45|55| EAZEE EW1 w2 | B2 | M1 | dDxh RIS (Lt el el it e St it Sy ot s
S8 156231 - | 96 T = O 169> | OB [0 = SO (O ) [ E S IG 15 | 16 | 75| 15 | 45x75x53 | 60 | 850 | 1380 | 7.3 7.3 10.1 0.2 15
HER 280N | 0 | o7 || @B || €8 | 95 || B migle || 0| e[ 288 [S88|| @ [IE]  [ENER 20 | 215| 10 | 18 | 6x9.5x85 | 60 1410 2430 15.9 15.9 237 0.35 23
HSR S0CA| 90 | 72| 9 | 103 | 52| 42 | MIOx18 | 10|18 | 35 |€98| 7 |12] B-M6F 23 | 235 [115]| 22| 7x11x9 60 2030 3510 275 275 40.0 0.59 33
HSR 35CA | 100 | 82 | 9 | 117 |62 | 48 | M10x21 | 13|21 | 40 [798| 8 | 12| B-M6F
28 | 31 | 14 | 26| 9x14x12 | 80 2860 4770 438 438 65.8 1.1 48
HSR 45CA | 120 |100| 10 | 139 [ 80 | 60 | M12x15 | 14| 25| 50 | 98 |10 | 16| B-PTus
34 | 33 | 17 | 29| 9x14x12 | 80 3800 6230 65.4 65.4 104.7 1.6 6.6
HSR 55CA | 140 |116| 12 | 163 [ 95 | 70 | M14x17 | 15|29 | 57 | 118 |11 |16| B-PTus ot e o s e o 00 o s 32 Y e
HSR 65CA | 170 |142| 14 | 186 [110| 90 | M16x23 |23 |37 | 78 | 147 |19 |16| B-PTus : : ke : : : : :
e 26 el B Taw ml e s Tm el o e s el orn 53 | 435 |265| 44 | 16x23x20 | 120 | 9030 | 14000 | 2206 2206 370.3 45 15.1
63 | 535 |315| 53 | 18x26x22 | 150 | 1440 | 21900 | 4307 430.7 676.7 85 225
85 | 65 |425| 65 | 24x35%x28 | 180 | 21400 | 31600 | 10365 | 10365 | 1282.2 17.0 35.2

e LM3B SR <F(mm) LM BHR T (mm) BREER RUBHE T2 55
W | B | Bl |[KEL| C |&5EM H T|T1| K | L1 | N|E| @8hEsg \ VB | v S,
HSR 15CB | 47 | 38 | 45 | 585 | 30 | 24 045 | 7 | 11| 194 |382]45(55] EARES BEW1l w2 | B2 | M1 | dDxh = Ckat ) Cokgf | Makgf=mif Mskgizmi| Mo kgt=m) =5, &5 g
HSR 20CB| 63 |58 | 5 | 76 | 40| 30 96 10110} 25 | 80 | 5 [12] B-M6F 15 | 16 | 7.5 | 15 | 45x7.5x53 | 60 | 850 | 1380 | 7.3 73 10.1 0.2 15
HSR 25CB| 70 | 57 |65 | 88 45| 36 47 110116285 /985] 6 |12] B-M6F 20 | 215 | 10 | 18 | 6x95x85 | 60 | 1410 | 2430 | 159 159 23.7 035 | 23
:22 2222 19000 ;i : 1?? Zi 22 iz 12 ;? ig 32:: ; 12 E:mZE 23 | 235 |115]| 22| 7x11x9 | 60 | 2030 | 3510 | 275 275 40.0 059 | 33
HSR 45CB | 120 | 100| 10 | 139 | 80 | 60 611 |14 | 25| 50 | 98 | 10| 16| B-PTws 26 | 51 | M |26 O9xMxi2 | 80 | 2860 | 4770 | 438 438 658 1 48
HSR 55CB | 140 | 116 | 12 | 163 | 95 | 70 614 | 15|29 | 57 | 118 | 11| 16| B-PTws 8 138 | 17 |29] 9xMdxf2 | 80 | 3800 | 620 | €54 654 | 1047 16 66
s oo 70 T s Tes TrioT o0 w16 23 a7 | 78 727 |70 16| BpTw 45 | 375 |225| 39 | 14x20x7 | 105 | 6120 | 9750 | 1276 | 1276 | 2132 238 110
o ecs | 218 Ties 55 T 227 Toaol 310 o5 aollesl e [90]me] e 53 | 435 |265| 44 | 16x23x20 | 120 | 9030 | 14000 | 2206 | 2206 | 3703 45 15.1
63 | 535 |315] 53 | 18x26x22 | 150 | 1440 | 21900 | 4307 | 4307 | 6767 85 | 225
85 | 65 |425| 65 | 24x35x28 | 180 | 21400 | 31600 | 10365 | 10365 | 12822 | 170 | 352




5 2=

kA - ol - I - B

WYOO BEARING

AN I > =
FR R E L SH R
Rectangle ball linear rail series
HSR...CR HSR...HR L
L1
| : | | <
N 2|p
I
-
g " v JF
|
| V hI
M1 I 1 1 :
P N 7
.
.
LM B R~ (mm) E A E RN 1o BUFFRNEE 2 E
s 3
me LMBSRR S (mm) ZWi| w2 | B2 |M1| dDxh  |@8EF| Ckgf | Cokgf |Makgi-m |Mskgf-m | Mc kgi-m LMk’g'ji* L&"gifh
=W | B Bl | KEL| C | 5EM Sx T K L1 N | SEBEHIES
HSR 20CR | 22 | a2 76 | 36 30 M5 x6 s | 25 | 50 | 5 B_MGF 20 | 215| 10 | 18 | 6x95%x85 | 60 1410 2430 15.9 15.9 23.7 0.35 23
HSR 30CR | 60 | 20 | 10 103 | 40 45 V8 % 10 s | 38 | eos | 7 B_MBE 28 | 31 | 14 | 26 | 9x14x12 80 2860 4770 43.8 43.8 65.8 1.1 4.8
HSR 45CR | 86 | 60 | 13 139 | 60 20 M10x17 | 15 1 60 | 98 | 10 B_PTus 45 | 375|225 39 | 14x20x7 105 | 6120 9750 127.6 127.6 2132 28 11.0
HSR 85CR 158 100 o8 247 80 110 M18 x 25 30 91 179 23 B—PTys 85 65 |425]| 65 24 x35x 28 180 21400 31600 1036.5 1036.5 1282.2 17.0 5.2
. LM 38 R~F (mm ERA T g B2 =y
e LM3BER < (mm) B ER ST (mm) E AR ERN o7 BUFER 156 =
= . =1 SET S b
W | B | BI |KEL| C | BEM | sSx. T k]| v | N emmee BWI| W2 | B2 |M1| dDxh  |@EEF| Ckgf | Cokgt |Makgf-m |Mskgf-m | Mc kgf-m LMkf’:i* Lﬁ"gﬁfh
HSR 20HR 44 32 6 93 50 30 M5 x 6 8 | 25| 66 5 EAREE
20 | 215 | 10 | 18 | 6x95x85 | 60 1410 2430 15.9 15.9 23.7 0.35 2.3
HSR 25HR | 48 | 35 | 65 | 107 | 50 36 M6 x 8 8 |295| 778 | 6 B—M6F
23 | 235 |115] 22 | 7x11x9 60 2030 3510 27.5 27.5 40.0 0.59 3.3
HSR 30HR | 60 | 40 | 10 125 | 60 42 M8 x 10 8 | 35| 92 7 B—M6F
28 | 31 | 14 | 26| 9x14x12 80 2860 4770 43.8 438 65.8 1.1 4.8
RES SRR | 7o | 80 | 10 =Y || 72 e iy [0 ) 40 IesE] © Eall 34 | 33 | 17 | 29| 9x14x12 80 3800 6230 65.4 65.4 104.7 16 6.6
HSR 45HR | 86 | 60 | 13 | 171 | 80 | 60 M10x17 | 1550 | 130 | 10 B-MéF 45 | 375 (225 39 | 14x20x7 | 105 | 6120 | 9750 | 1276 | 1276 | 2132 08 110
HSR 85HR | 100 | 76 | 125 | 201 | 95 70 M12x18 | 18 | 57 | 156 | 11 B-PTus 53 | 435 |265| 44 | 16x23x20 | 120 | 9030 | 14000 | 2206 220.6 3703 45 15.1
HSR 65HR | 126 | 76 | 25 | 246 | 120 | 90 M16x20 | 23 | 76 | 207 | 19 B-PTys 63 | 535 |315| 53 | 18x26x22 | 150 1440 | 21900 | 430.7 430.7 676.7 8.5 225
HSR 85HR | 156 | 100 | 28 303 | 140 | 110 M18x25 | 30 | 94 | 236 | 23 B-PTs 85 | 65 |425| 65 | 24x35x28 | 180 | 21400 | 31600 | 1036.5 1036.5 1282.2 17.0 35.2




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16

